LOigiGihay.com

PE THAM KHAO — KY THI TUYEN SINH VAO LOP 10 THPT - PE 3
MON: TIENG ANH
Thoi gian: 60 phut
BIEN SOAN: BAN CHUYEN MON LOIGIAIHAY.COM

Mark the letter A, B, C or D on your answer sheet to indicate the word whose underlined part differs
from the other three in pronunciation in each of the following questions.

Question 1.

A. surgery

B. congestion

C. designer

D. engineer

Question 2.

A. astronaut

B. producer

C. policeman

D. composer

Mark the letter A, B, C or D on your answer sheet to indicate the word that differs from the other
three in the position of primary stress in each of the following questions.

Question 3.

A. struggle

B. involve

C. direct

D. attract

Question 4.

A. criminal

B. manual

C. medical

D. potential

Mark the letter A, B, C or D on your answer sheet to indicate correct answers to each of the following
sentences.

Question 5. Dad suggests a clean-up day in our neighborhood.

A. to organize

B. organizing

C. organize

D. to organizing
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A. Because

B. Although

C. Despite

D. Because of

Question 7. The city has to build more crosswalks because of the increase in the number of
A. accidents

B. pedestrians

C. sidewalks

D. criminals

Question 8. The price of urban houses is slightly increasing. It is than last year.
A. more expensive

B. as expensive

C. the most expensive

D. expensive

Question 9. Mia's grade in chemistry is still not good. I think she needs a

A. psychologist

B. medical scientist

C. skincare specialist

D. tutor

Question 10. My dad a heart surgery all morning yesterday.

A. were performing

B. was performing

C. is performing

D. performs

Question 11. If the government wants to reduce traffic congestion, they improve public
transportation. That's my suggestion.

A. should

B. need

C. may

D. might

Question 12. Lan: Hi, Hana! I'm taking part in a new project to protect the environment by using

technology with our classmates. Why don't you join us? - Hana:

A. It sounds very convenient. | need one for myself.
B. You're so excellent! Congratulations!

C. I'm not sure if I need to check my timetable.
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Read the following instruction and mark the letter A, B, C or D on your answer sheet to indicate the
correct option that best fits each of the numbered blanks.

‘%’ Simple Ways to Stay Fit — Expert Tips! €
Keeping fitis (13) __ than you think! Follow these steps:
Stay Active: Aim for at least 30 minutes of exercise daily - walk, jog, or try yoga.
Eat Healthy: Focus (14) whole grains, lean proteins, fruits, and veggies. Avoid processed foods.
Hydrate: Drink plenty of water throughout the day.

Rest Well: (15) _ 7-8 hours of quality sleep every night.
Consistency is Key: Make fitness a habit by setting (16) goals and sticking to them.

Small changes make a big difference. Start today and enjoy a healthier, happier you! =

Question 13.

A. easy

B. easier

C. more easy

D. less easy

Question 14.

A.in

B. on

C. about

D. at

Question 15.

A. Take

B. Give

C. Get

D. Have

Question 16.

A. achieve

B. achievement

C. achiever

D. achievable

Mark the letter A, B, C or D on your answer sheet to indicate the correct answer to each of the
following questions.

Question 17. Put the sentences (a-c) in the correct order, then fill in the blank to make a logical text.
Electronic devices have changed the way we work and have greatly impacted on career choices in recent
years. This means that people now consider careers that rely heavily on technology.
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b. Some devices even help improve productivity and communication at work.
c. Many companies seek employees who can operate modern devices efficiently.
However, there are also concerns about job displacement due to automation.
A.a-c-b
B.a—b-c
C.b-c-a
D.b-a-c
Question 18. Choose the sentence that can end the text (in Question 17) most appropriately.
A. Therefore, technology will become more and more dangerous.
B. As a result, careers in technology are becoming more popular.
C. Although job opportunities in technology will attract more people.
D. Because people who are good at technology will have better jobs.
Mark the letter A, B, C or D on your answer sheet to indicate the correct opinion that best fits each of

the numbered blanks.

If you are starting out your career or are already in the workforce, it is important (19) into the
future.

There will be a steady need for healthcare providers (20) the increasing demand for the care of
the older population and the number of patients with health conditions. To land (21) job in the

healthcare industry or related fields, it would be a good idea to focus on jobs such as nurses, medical scientists
or physicians.
Besides, as more businesses (22) online, there will be a greater need for experts in digital
marketing, electronic commerce, cyber security technology, data science (data analysts), and software
development. Mastering skills and acquiring certificates in these fields would (23) applicant for many
job openings.
In sum, you should stay up-to-date on the latest trends and learn necessary skills in health care, technology,
or digital fields to increase your chances (24) getting a job.

Question 19.

A. look

B. looks

C. looking

D. to look

Question 20.

A. despite

B. although

C. since
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Question 21.

A g

B. an

C.a

D. the

Question 22.

A. go

B. make

C.do

D. put

Question 23.

A. you make competive

B. make you a competitive

C. compete you to make

D. make you compete

Question 24,

A. of

B. on

C.at

D. for

Mark the letter A, B, C or D on your answer sheet to indicate the sentence that is closest on meaning
to the original sentence in each of the following questions.

Question 25. The Pacific Ocean covers more than 30% of the Earth's surface, and it plays a crucial role in
regulating the planet's climate.

A. The Pacific Ocean playing a crucial role in regulating the planet's climate, covering more than 30%
of the Earth's surface.

B. The Pacific Ocean, which covers more than 30% of the Earth's surface, plays a crucial role in
regulating the planet's climate.

C. The Pacific Ocean covers more than 30% of the Earth's surface, is playing a crucial role in
regulating the planet's climate.

D. The Pacific Ocean which plays a crucial role in regulating the planet's climate, covering more than
30% of the Earth's surface.

Question 26. Although the Earth faces many environmental challenges, it remains a beautiful planet.
A. In spite of the Earth faces many environmental challenges, it remains a beautiful planet.

B. In spite facing many environmental challenges, it remains a beautiful planet.
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D. Despite facing many environmental challenges, the Earth remains a beautiful planet.

Mark the letter A, B, C or D on your answer sheet to indicate the sentence that is made from the given
cues in each of the following questions.

Question 27. satellites / the Earth / orbit / provide / weather data /, / which /, / help /. /

A. Satellites, help provide weather data, which orbit the Earth.

B. Satellites, which orbit the Earth, help provide weather data.

C. Satellites, which the Earth orbit, help provide weather data.

D. Satellites, orbit the Earth, which help provide weather data.

Question 28. artificial / is / is / all industries /, /, / intelligence / which / transforming / rapidly evolving / . /
A. Artificial intelligence, is rapidly evolving, which is transforming all industries.

B. Artificial intelligence, which is rapidly evolving, is transforming all industries.

C. Artificial intelligence is transforming all industries, which, is rapidly evolving.

D. Atrtificial intelligence, is transforming all industries, which is rapidly evolving.

Read the following sign or notice and mark the letter A, B, C or D on your answer sheet to indicate
the correct answer to each of the following questions.

Question 29. What does the notice say?

Dear guests,
Our holiday advisor is available in the lounge A. People staying at the hotel can arrange activities through
every day. 8-10AM for booking guided tours,
ey cay . 994 the hotel.
museums, garden tickets, camel rides.
Enjoy your stay. B. The hotel’s holiday advisor accompanies guests on tours.

C. Weekly sightseeing trips start from our hotel.
D. Guided tours can be booked from 8AM to 10PM in the

lounge.

Question 30. What does the sign say?

A. Turn your mobile phone off when not in use.

B. Turn your mobile phone into silent mode.

C. Turn up the volume so that it can be heard more clearly.
D. Turn down the music when you are alone.

Read the following passage and mark the letter A, B, C or D on your answer sheet to indicate the
correct answer to each of the following questions.

The attraction of job opportunities and better life is a major reason why people go to cities. Currently, half the
world's population lives in cities, and by 2050 this will be two-thirds. Despite good opportunities the cities

offer, they also bring two of the most serious issues: poverty and environmental damage.
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and social services all worsen the situation. Nevertheless, governments, NGOs and community groups are all
trying to solve the problem by improving housing options, offering job training, building more educational
facilities and providing affordable medical care.

Environmental degradation is another serious problem in cities. As cities spread out, the demand for resources
will increase. That will lead to an increase in resource consumption, which in turn produces more waste. This
will have a big impact on the environment, causing serious problems, such as water and air pollution, and
even flood flashing. Renewable energy, eco-friendly transportation and effective waste management strategies
could help improve the environment in cities.

Question 31. What is the purpose of the text?

A. To demonstrate the seriousness of poverty in cities.

B. To bring up the environmental issues in cities.

C. To discuss poverty and environmental damage in cities.

D. To suggest solutions to poverty and environmental damage in cities.

Question 32. Which word has the CLOSEST meaning to the word poverty-stricken in paragraph 2?

A.rich

B. poor

C. well-off

D. prosperous

Question 33. Which has the OPPOSITE meaning to the word serious in paragraph 1?
A. severe

B. important

C. minor

D. extreme

Question 34. What does the word This in paragraph 3 refer to?

A. the expansion of cities

B. the growing demand for resources

C. environmental degradation

D. the increase in resource consumption and waste

Question 35. Which does NOT the text mention as a solution to poverty?
A. offering job training

B. building schools and libraries

C. providing free medical care

D. improving access to affordable housing

Question 36. According to the text, what is the estimated population of urban areas by 2050?
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A half of the world's population
B. one-third of the world's population
C. one-fourth of the world's population
D. two-thirds of the world's population
Four phrases/ sentences have been removed from the text below. For each question, mark the letter A,
B, C or D on your answer sheet to indicate the correct option that best fits each of the numbered

blanks.

A. that can influence a person's sense of security

B. is friendlier to the environment than traditional energy

C. Itis one of the best ways to improve food access for the residents, develop local economies, reduce
pollution, and bring more green spaces

D. Many hospitals in those cities have modern facilities with professional staff

Many cities in the world are striving to improve the lives of their residents in many ways. Firstly, access to

quality healthcare and education is a priority. (37) . In some places, the government even pays for

its residents' medical fees. There are many policies to develop schools and universit ies and improve teaching

and learning. Housing is another factor (38) . Many cities are providing low-income families with

low-cost housing options to help them maintain good living conditions. Besides, some cities are altering the

way they develop and use energy. Renewable energy, like thermal energy, solar energy, and wind energy, (39)
. Many cities prefer using them because they can help save money in the long run. Additionally,

some cities are exploring ways to encourage urban farming. (40) . In summary, cities are working

towards creating safer, greener, and more convenient living environments.

Question 37.

Question 38.

Question 39.

Question 40.
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